Up&wbwqpnipini N 2

«LL DL-TLUTAR-15/3-16/1» Swélwgpny 2npwbiwljught hwiwduybwgpny hpwlwbiwgynn
pupwgwlungh quwhuwinnnh hwuatwdnnnyh thuwnhp

2 dwpunh 2016p.

p. bpluwt
dwdp' 14:00

Uwuatiwlgnid tpt!

Cwusuwdnnnyh twhwquh' L. Cwpnipiniuju (FT/qum)

Cwudbwdnnnyh wlnwdubp' U.Uwpnnjut (FM/3U), U.Uwpnwpjwu (FT/qU),
UUlpnnudjuiy ( ST/RU), G UYningut (@my/eu)

Lwldbiwdnnnyh Pwpunninuin® L .2nihwlyjwl

1. « LKL HL-TLUTAP-15/3-16/1» dwéljwgpny qudwt pupwgwlwnpght hwjn
bbpjuwjugnpué dwutwygh dwupt

(L.<wpnigjniywi)
LT Runpnuly h ghuneiniu, np «&& dL-TLUTAR-15/3-16/1» Swoljwgnny  qudwy
purwgwlwpghl hwjun E ubipyuwywgpt hGunlywy Ywadwtipynigniup.
Uwulwlygh wudwumdp

h/h - T
1 <<3wunt>> Ump
2| <<Cuyluph>>UMp
3| <<lbquy Mpnws>Ume S
<<P[w‘uL|hwu1>><DPQ_ o o

<<Uhudw>> ymnp
<<Lnwwpwg hpwwnwnwlsng

<<Uuwninhly Ypwinnmi>> une
<<Ubunwpbu>>Umnp

<<Shgpwl Ubd>Ppr e

<<fdwul>> UMpP
Clnmbly £ npngnud” Ynnd = 5 ndd - 0:

3. ngqw(&jmnwpwhgnm ElEywmpntiwjhu thwpebpnul hpwybtpny wwhwgynn
thwuwmwpnpbph wnlwnipjwl b hpwybtiph wwydwubtiphu hwu]wugwmwu[uwhmmw'u
dwupt

(L. <wpnipniywl)
3.1 Vwulwlhgutiph Ynndhg LiEYunpnuwpt dluny ubpluwywgyws hwjinnud wnlw by hpwbpny

Wwhwlgynn pninp thwunwienptipp:
Lonnutnfly £ npnpnd’ Ynnd - 5, ntad - 0




4. Qwudtwdnnnyh Upuwnp Yuwubgubni b hwonpn thuwnp wugluwgdwt dwlwuwlwgnygp
hwuwnwwnbine dwupt

(L.€wpnipjnitywl)

4.2 <wund wnlw thwuwnwpenptph hwdwu.{wmwuruwhmpjmbﬂ hpwybpny  uwhdwuyws
wwhwugubipht npnokint hwdwp L Jnipwpwugnip' 31 swihwpwdhuubph hwdwp, 1-htu nt 2-pnp nbinp
qrwnbignwd dwuliwlhgubiphu npn2tint hwdwp qUwhwwnnn hwuduwdnnnyh upuwnp Ywubgut 2
wfuwnwupwht opny:

4.1 - <wuduwdnnnyh hwonpn  Uhuwnp hpwyhptiy 04.03.2016p., dwdp 10:00-hu, <<
bhuwbutbiph bwhiwpwpnyejwu Uwhiwpwpnipjwt 944 qunuiubiph hwdwlwpgdwu Pwdhu pwdhu,
p. bplwu, Utiihp Unwdjw 1 hwugtinu:

Clnnifby & npngnid” Ynnd - 5, nbd - 0

Cwuduwdnnnyh

Lwhwquh' L.<wpnipniujw
u.u u

Uunwd' e
U.Uwpnwpjwu
W.Uypnnudjut
LUYpuingwl

£.2nihwljwl

Lwpuninup




Updwbwqpnipiniu N 3

«LL BL-TLUTAR-15/3-16/1» Swolwqpny 2powbwljwhts hwiwduytwgpny hpwlwbwgynn
pupwgwlwpgh quwhunnnnp hwUudtuwdnnnyh thuwnh

p. Gpluw 4 dwpwnh 2016p.
dwdp’ 10:00
Vwutwygnid thu'
Cwtduwdnnnyh bwhiwguh' L.<wipnuegnitjwi (FT/UM)
Cwudtwdnnnyh wlnwdubp’ U.Uwpnnwt (FTVM), U.Uwpnwpjwt (FT/9U),
WUhpnnufjwl ( 9M/pU), d.Uhpwngw (aM/eU)
<wladtwdnnnyh pwpwnninwn' £.2nyhwlywy
1. Vwutwlhgubph 4nndhg ubplujuguws qUught wnwewplyh dwupt
(L.<wpniniyw)
2.1 Uwutiwlyhgubiph Ynnuhg Ubpywjwgyb & htinlywy guwshu wnweownyn.
Quihwpwdhu 1
[— Swwgnniejwl wohiwwnwlpltiph dtnppbipnud
Uwubiwlgh Unwownlws ghup
wbdwunwip
hupltwndhbp Twhnyp | HUL CUr}imE_Lp_
<<Lbqw| Mynwi>> ymnpe 32 850 3650 T 7300 43800
<<tuwgwpwd Yntubpywnnphws> 45 000 4500 9900 59 400
<<3wunu>>UMNP ] 20000 | 4000 4800 28 800
<<Updwt Uudwgniyjuu>>UQ 42 000 3000 9000 54 000
Quithwpwdht 2:
‘ Swwgpnipjwl woluwwnwlpubinh dbinppbpnud
-
Uwutwlgh Unwowplwsd ghup
wlqwundp
huplwpdbp Twhnyp uu< Cunhwunip
<<LbEgw| Mynu>> UMP 42 210 4690 9380 56 280
<<hiwswpwy YUntubpuwnnphws> 59500 | 5950 | 13090 | 78540 |
<<3wunu>>UMne 27 000 6500 6700 40 200
<<Updwt Uudwignijw>>UQ 59 000 4000 12 600 75 600

Quwihwpwdhi 3:

Swwapnipjw wfuwinwiptbiph dtinpphpnud

Unwownplwd ghup

Uwuliwlgh
wujwlumdp I B e
hupbwndtp Twhnyp uu< Cunhwunip
L <<Lbqwj Mynu>> UMe 32 400 3600 7200 43 200 i
<<huwgwpwd “ntubpduinnphui>> 13 000 1900 4180 25 080
<<Bwunu>>UMNP 35 000 5000 8000 48 000
<<Updwl Uudwugnyjwi>>U9 | 36000 2000 | 7600 45 600
L <<Uhudw>>UMp 45500 24500 |

2w Lhwpwdrgm

70000

-]

Swwgnnipwu wpfuwunwlpbiph dbnppbpnud




Uwutwlygh Unwowplwé ghtp
wujwumdp
huplwndtp Cwhnyp uu< Cunhwunip
<<huuwswpwd Yntubpduinnpphus>> 16 000 1600 3520 21120
<<Bwunt>>UMp 6000 1000 1400 __ 8400
<<Updwt Uudwlgnyui>>Ua 9200 800 2000 12 000
Quithwpuidhu 5:
Swwgpnyejwl wfuuwnwlplbiph dtinpptipnid
Uwubwlygh Unwgwnlywsd ghtp
wudwunwip
huptiwnpdtip Twhnyp uu Cunhwunip
<<hiwswpwd Ynbubpywnnphuws> 92 000 9200 20 240 121 440
<<Updwt Uudwlgnpu>>U2 63 500 __ 4000 | 13 500 81000
L <<fFwul>>UMnpe 123 500 6500 26 000 156 000
Quithwpwdht 6:
L Swwgpnyejwl woluwtnwptitinh abnppblipnud
Uwutiwlgh Unwgwpljws ghup
wldwunuwdp
huplwndbp Cwhnyp uu< Cunhwunip
<<hywswpuwd Ynbubpjuwinnphws>> 450 000 45 000 99 000 594 000
<<Updwt Uudwlugnywi>>U3 310 000 20 000 66 000 396 000
<<fdwul>> UNPC 617 500 32 500 130 000 780 000
Quithwpwdhu 7: o o
Swjwannipjwl wpluwwnwlpubiph &bnppbipnul
Uwutwlgh Unwownlws ghtp
wlywundp
hupliwnpdtp Twhnyp uug Cunhwunip
<<Lbqwj Mjnw>> ynp 18 900 2100 4200 25 200
| _<<tuwswpwd Yntubpwinnphws> 60 000 6000 13200 79200 |
<<8wunu>>UMNPC 13 000 2000 3000 18 000
<<Updwl Uudwlgniyjwu>>UQ 20 500 1500 4400 26 400
<<Lnwwpuwg
hpwuwpwlsnipnius> UME 15000 2000 17000

Qwihwpwdhu 8:

Swwgpniejw wluwwunwupubiph dbnpphpnul

—

Unwowplws ghup

Uwutwlgh
wuywunudp
hupuwndtp Twhnyp uug Lunhwunip
<<Lbgqw| Mynw>> umpe 2 002 500 222 500 445 000 2 670 000
<<lvwswpwd Ynuubpdwwnnphws>> 1500 000 150 000 330 000 1980 000
<<8wunt>>UMP 1600 000 150 000 350 000 _}_g@_o 000 |
<<Updwt Uudwugnyjw>>UQ 2250 000 125 000 475 000 2 850 000
<<Lnuwpug 3980000 | 445000 | 4425000 |




hpwwwpwlsnipiniu>> UMP

f

<<Uunnhly Ypwnniu>> UME 1425 000 125 000 310 000 1860 000

<<Pywlljhpwin>>dPE 1100 000 200 000 260 000 1560 000
<<Ubunwpbius> UM 2 300 000 200 000 500000 | 3000000

<<Shgpwt Ukd>> bR 2336449 | 163551 | 500 000 3000 000

Quithwpwdht 9:

Sywgpnipywl w2tuwnwptibinh dtnpptipnud

Uwutwlygh Unwownpluwd ghup
wlywlnwip _ -_
huptwnpdtp Cwhnt uu<g Cunhwbnep

<<Lbiqu| Mynw>> UMQ 2 002 500 222500 | 445 000 2670 000

L<<hju1§wpwd “nuubpdwunnphws> 1500 000 l 150 000 330 000 1980 000

B <<8wunu>>UMp 2100000 | 150000 [ 450 000 2700 000
<<Updwt Uudwlgnyut>>Ua 2 250 000 125 000 475 000 2850 000
<<Lnuuwpug 3 980 000 ‘ 445 000 4425 000 ]

hpwinwpwlsnyeynius>> UNE

<<Uuinnhy Spwinnit>> UNO 1425000 | 125000 | 310000 | 1860000

<<Plutyhpwun>>ppe . 1100 000 ,@_QEQQ__+ﬂ£@__ }_. 1560000

<<Ubnwpbus>> UNO 2 300 000 200 000 500 000 3 000 000

<<Shgpwl Ukd>> dRp | 2336449 | 163 55] | 500000 | 3000000

Quthwpwdhu 10:

Swywgpniejwl wtuwinwuplbph dbnppbpnu

-

Uwuliwlgh Unwownlwsd ghtp
wljwunmdp ‘
huptwndtip | guhnye | UUC | Cunhuwtinin
| <<huiswpwd Ynuubipduwnphws> 12 000 1200 | 2640 | _15 840
<<3wunu>>Unpe 30 000 5000 1 7000 42000
L<<Updu}‘u Uudwlignyuwts>>U2 26000 | 2000 | 5600 33 600
<<Lnwwpwg
PPl U0 70 000 ' 10 000 ' 80 000
<<fFuul>>Une 71250 _3750__ | 15000 | 90000 |
<<Uhudw>> Ump 25 350 13 650 39 000
<<Ubnwpbu>> UNQ | 45000 5000 10 000 60 000
Quithwpwdhu 11:
Swywannipjwl wi2tuwinwlplibinh dtinppbipnud
Uwulwygp Unwownlwéd ghup
wLywunwip
Puptwndtp Cwhnyp uu<
<<hvwswpwd Ynuubpjuwwnnphws> 12 000 1200 2640
<<3wunu>>UMnpe 30 000 5000 7000
<<Updwt Uudwugnyjwu>>UQ 26 000 2000 5600
<<Lnwwpuwg
hpwnwpwisnyenii>> UM 70 000 10000
}_ <<fFwul>>Unp 71 250 3750 | 15000
<<Uhudw>> UNp 25 350 13 650
[ <<Utwnwpbus>> UNP 45 000 5000 10 000

Quihwpwdhi 12:




Swwgpniywl woluwwnwlpliinh dtnppbipnid

Uwutwlgh Unwownluws ghup
wljwtndp
Puplwndtp Cwhnt uu<g
<<hbwgwpwd Ynbubpywinnphwss> | 3500 350 770
<<Updwt Uudwiignijwti>>U2 9200 800 | 2000
<<Lnwwpuwg
_hpwunwpwlgnipiniys> UMe 8000 - 7_2000 o
<<fdwul>>Umnp 7600 400 1600
<<Uhudw>> Unp 3185 L5 ]

Quthwpwdht 13:

Swwapnipjw wofuwwnwlplbiph dinpplpnud

Unwownlwd ghup

Uwutwlgh
wudwumdp S - |
hupuwpdtip Cwhnypp uug Lunhwunip
<<wgwpwd Ynbubpywinnphws>> 3500 350 770 | 4620
<<Updwl Uudwlgnywu>>UQ 9200 800 2000 12 000
<<Lnwpuwg
hpwunwpwlsneiniu>> UME 8000 2000 10 000
<<(dwul>>UMnp 7600 400 1600 9600
I <<Uhudw>> Ump 3185 _L~_17T5 4900
Quthwpwdhu 14:
Sywgpnipjwl wituwwnnwliptiinh tinppbipnud
Uwutwlgh Unwownlwd ghtp
wujwunudp
huptwndtip Swhnype uug ’ Lunhwunep
<<Lbqu; Mynw>> UNE 28 080 3120 6240 [ 37 440
<<huwgwpwd Yntiubpywinnphws>> 40 000 4000 | 8800 _ 52800
B <<3wunt>>UMnp 80 000 10 000 18 000 108 000
<<Updwti Uudwlgnyyuiti>>U3 75 000 5000 16 000 | 96 000
<<bLnuwpuwg
hpwinwpuwlsnipnitss UME 215 000 25000 240 000
<<fdwul>>Umne 285 000 15 000 60 000 360 000
<<Uhudw>>UMNP 101 400 54 600 156 000
<<Cwjljupih>>Une 41 600 10 400 52 000
[ <<Ubunwpbiu>> UNC _1_ 75000 10000 | 17000 _| 102000

Quihwpwdhl 15:

Swwgnnipjwi w2fuwinwpubiph dGnpptipnud

i

Uwuliwlgh Unwownplwd ghup
wiywbindp
hupliwndtp J Swhnyp l uu<g lDUr}huwmn J
<<bbqu; Mynu>> UMe 60 480 6720 13 440 80640
<<huwswpwd Ynuubpjuwnnphws> 40 000 ‘} 4000 8800 _ 52800
<<Swunu>>UNC 80 000 10 000 18 000 108 000




<<Updwt Uudwbgnyw>>UQ 75 000 5000 16 000 l 96 000 —’
<<Lntuwpwg
hpwinwpwlsnipinits>> UNQ 215 000 25000 ’ 240 000 7
<<fdwul>>UMnp 285 000 15 000 60 000 I 360 000 |
<<Uhudw>>Umnp 101 400 54 600 l 156 000
<<€wjjwpih>>UMne 41 600 10 400 | 52 000
<<Uuwnwpbu>> Une 75 000 10 000 17 000 } 102 000
Quithwpwdht 16:
Syjwagpnipjwl woluwnwuptibph dtnppbpnud
Uwuliwlgh Unwowplywd ghtp
wudwlnuwp -
bPuptuwpdtp Cwhnyp uug Cunhwunip
<<Lbquw) Mynw>> Uympe 46 440 5160 10 320 61 920
<<tuwgwpwd Ynuubpdwinnphws> 30 000 3000 6600 39600
<<8wunu>>UMp 67 000 7000 14 800 88800
<<Updwl Uudwugnyywl>>Ua 56 000 4000 12 000 72 000
<<Lnwwpwg 95
hpwunwpwlsnipindi>> UME 175 000 000 200 000
<<fdwulp>>UnP 213 750 11250 45 000 270 000
<<Yhudw>>Umnp 76 050 40 950 117 000
<<Kwjywpiph>>Une 33600 8400 42 000
<<Uuunwpbu>> UNPC 67 500 10 000 15 500 93 000
Quithwpwdhu 17:
Suyjwgpnipjwl wahiwwnwlpbiph stnpptipnu
Uwutiwlgh UnweownYwd ghtp
wudwunwip S _
| huplwpdbp Swhnype uug pﬂ}.hwtmln
<<Lbgw) Mynu>> UNC 46 440 5160 10 320 61 920
<<hvwswpwd Yntubpdunnphws>> 30 000 3000 6600 39 600
<<3wunt>>UMNC 67 000 7000 14800 88 800
<<Updwl Uudwugnyuwu>>UQ 56 000 4000 12 000 72 000
<<Lnwwpug 0
hpwnwpulsnipins> UMD 175 000 25 000 200 000
<<fdwul>>UMne 213 750 11 250 45 000 270 000
<<Uhudw>>UNP 76 050 40 950 117 000
<<Cwjywph>>UnC 33 600 8400 42 000
<<Ubwnwpbu>> UneC 67 500 10 000 15 500 93 000 j
uthwpwdht 18:
Swwannipjwl watuwwnwupubnh adbnpptpnud
Uwubiwygh Unwowplwd ghup
wuywtnuip
huplwndbp Swhnyp uug Cunhwunip
<<Lbqu Mpnw>> UNe 113 040 12 560 25120 150 720
<<tywswpwd “ntubpyuwnnphws>> 80 000 8000 17 600 105 600
<<Bwunt>>UMC 140 000 20 000 32 000 192 000
<<Updwl Uudwlgnywl>>U3 144 000 8000 30 400 182 400
<<Lnuwpuwg 215 000 25 000 _|__240000 |




hpwuiwnwlsnipim>> UME

|
| 720000

l
<<fFwul>>Une 570000 | 30000 120 000
] <<Uhudw>>UMNQ 202 800 109 200 ’ + 312 000
<<<wjjwpih>>UM0 76 800 19 200 96 000
| <<UUunwpbu>> UM 146000 [ 30000 | 35200 | 211200 |
Quthwpwdhu 19:
—
Swwgpntpjwl w2luiwwnwlpubiph dbnppbpnud
Uwutwlgh Unwownlyws ghup
wlbdwunwdp - _— ]
hbg?wpdbg Swhnyp [ uug Dt,-r}hwiq
<<Lbquj Mjnw>> UNP 113 040 12 560 25120 150 720
<<hbwgwpwd Ynbubpdwinnphws>> 80 000 8000 17 600 105 600
<<3wunu>>UNne 140 000 20000 | 32000 | 192 000
<<Updwt Uudwlgniyjwi=>U2 144 000 8000 30 400 182 400
<<Lnwpuwg
hpwwwpwlsnipinibes UME 215 000 25 000 240 000
<<fdwul>>UNnp 570 000 30 000 120 000 720 000
<<Uhudw>>UMnp 202 800 109 200 __ 312000
<<€wjhuwpip>>UNne 76 800 19 200 96 000
<<Utwnwpbu>> UNe 146 000 30 000 35 200 211200 |

Quithwpwdhu 20:

Swwanniejwl woluwwnwuplbinh abnppbpnid

N —_
Uwutwygh Unwowplwd ghtp
wudwunwdp S ]
L Pupliwnpdtp Swhnyp uuc Cunhwuneg B
<<hvwswpwd YUnbubpywinnphur>> 110 000 11000 24 200 145 200
<<3wunu>>UMNP 55 000 4000 11 800 70800 |
Quithwpwdht 21:
Sujwanniejwl wouwwnwupltiph dtnppbpnud
Uwutwlgh Unwownlwd ghup
wudwunidp ———
T,
hbphwndbp_ Cwhnyp [ uuc - FDUqhuﬂan
<<lUwswpwd Yntuubpywnnphuws>> 110 000 11.000 24 200 145200 |
<<3wunu>>Unp 55 000 4000 11 800 70 800
Quthwpwdhl 22:
Swwagpnipjwu woluwinwuplibiph dtinpppnuw
Ywubwlgh Unwewplws ghtp
wlujwunwip
hupuwnpdtip Cwhnype uu< ’ Cunhwunip
<<huwswpwd Ynbubpdwnnphws> 45 000 4500 9900 ’ 59 400
<<Swunu>>UMne 120 000 20 000 28 000 168 000

Quithwpwdht 23:




Swwgpnipywu wohiwwnwliptiinh dtinpplipnud

Quithwpwdht 24:

Swwanpnipjul luzl'uwmwtxghbph &bnppbpnud

Uwuliwygh Unwowplyws qghup
wldwiundp
hupUwndbp Swhnyp ’ uug { Cunhwunp
<<huwswpwy Ynbubpdwninphws> 220000 | 22000 | 48400 | 290 400 |
<<8wunu>>UMQ 100 000 8000 | 21600 | 129600

Uwutiwlygh Unwownplyws ghp
wuywunidp
huptwndtp l Swhnyp uug ’ Lunhwunmp
<<hiwgwpwy Yntubpywwnnphuws>> 220 000 22 000 48400 | 290 ’90 400
<<3wunt>>UNe 100 000 8000 21 600 129 600
Quihwpwdht 25: _
Swwgnnipjwl w2fuwwnwlpltiph dnpptipnud ’
Uwubiwygh Unwownljwd ghup
wldwumdp
hupuwndtip Cwhnyp uu<g Cunhwunip
| <<hiwswpwd Ynuubpywnnphws> 25 000 2500 5500 33000
<<3wunu>>yUmnp 32 000 3000 7000 42 000
Quithwpwdhu 26: o
Swwannipjwl wigfuwwnwiapltinh dbnpplipnud
Uwubiwlgh Unwownljwsd ghup 1
wudwuntdp
huplwnpdtip Twhnyp uug Cunthwlnip
| <<hywswpwd Ynuubpywwnnphws>> 100 000 10 000 22 000 132000
<<3wunu>>UNC 100 000 8000 21600 129 600

Quithwpwdhu 27:

Sywagnpnipjwl wofuwinwlplbinh dtinpplipnug

Unwownlwd ghup

Uwutwlygh
wlywunwdp
huptwndtp ' Twhnyp uu< Cunhwunip
<<Kwyjupih>> UNPC 136 000 | 34 000 22 000 170 000

Quithwpwdhu 28:

Swjwgpnipjwl wpluwinwupubiph dtinpptipnid

]

Uwutwlgh

whwlnuwip Hnwgwnluws ghtip




huptwpdbp ’ Swhnyp , uu< ’ Cunhwunip
<<Lbquw| Mynw>> Une 40 500 | 4500 L 9000 54 000
<<howswpuy L'U“,‘;]‘[’}b“‘l“““””h“‘» 54 000 5400 11 880 71280
<<Bwunt>>UMNQ 50 000 8000 | 11600 | 69600
<<Updwb Uudwlgnywu>>Ugq 42000 3000 9000 54 000
<<lLnwwpuwg
hpwinwpwlsnygyniu>> UME >3 000 L - >9 000
<<fdwul>>UMP 45 600 2400 9600 57 600
<<Uhudws>>Unp 26 910 14490 | | 41400
<<Cwjjwpih>>UMp - 28 800 7200 ! 36000
<<Ubwnwpbus>> UNC 65 000 10 000 15 000 90 000

Quithwpwdht 29:

]

Swwgnniejwt wpluwwnwlplbiph dtnppbipnud

wuywlnidp
huptiwndtp Twhnyp uu<g Cunhwunip
<<Lbquwj Mpynu>> Unp 94 500 10 500 21 000 126 000
<<hwsunud ”lj’rﬁ’]‘éb“qw”‘””hw» 135 000 13 500 29 700 178 200
<<Bwunu>>Unpe 90 000 10 000 20 000 120 000
<<Updwt Uudwlgnyw>>U2 99 000 6000 21 000 126 000
<<Lnwwpwg
hpwiwpwlsnipiniss UMO 200 000 25 000 225 000
<<Upudw>>Umne 92 625 49 875 _ | 142500
<<Cwjlwpth>>UMp 60 000 15 000 75 000
<<Ulinwpbu>> UM 100 000 37 500 27 500 165 000 |
Quithwpwdhu 30:
Suyjwgpnipwl wztuwwnwlplbiph dbnppbpnud j
Uwuliwlgh Unwownlwd ghup
wlywunuwin
Puptwpdtip Swhnyp uug Cunhwunip
<<Lbqu) Mynw>> UNE 3 384 000 376 000 752 000 4 512 000
<<hwswupwd L'U",E']‘Ebmmm""hw» 2400000 | 240000 | 528 000 3168 000
<<3wunli>>UmpP 3 000 200000 | 640000 3 840 000
<<Updwl Uudwlgnywu>>Ua 2530 000 150 000 536 000 3 216 000
<<Lnwwpwg
DS U 200 000 25 000 225 000
<<Uhudw>>ymnp 2 964 000 1596 000 4560 000 |
<<Qwjywpih>>unp 2432 000 608 000 3040 000
<<Uuunwpbus>> UM 3 000 000 333 000 666 600 _] 3999 600
<<Uuwnnhly Ypwwnniu >>UMe 2 300 000 180 000 496 000 | 2976 000
<<Pjuuljhpwin>> dpp 1730 000 350 000 416000 | 2 496 000
<<Shgpwtr Ubd>>pPP 4 990 654 349 346 1068000 | 6408 000

Quithwpwdht 31:

Swwagpnip)wu woluwwnwlupubinh dtinpplipned

-




Uwutwlgh Unwowplwsd ghup
wlwunwip
huptwpdbp J Cwhnype ' uu< LCunhwunip
<<Lbqw| Mynw>> ynp 148 500 16500 | 33000 _ 198 000

<<huwsupuid L‘Jz‘é“m“m"“hw» 123 000 12 300 27 060 162 360
<<8wunt>>UMQ 110 000 12 000 24400 146 400
<<Updwit Uudwugnyw>>Ua 110000 | 7000 | 23400 140 400
<<Lnwwpuwg
hpwiwpwlsnipnt>> yme | 290000 ) as000 | 229000
<<Uhudw>>Unp 185 250 99 750 285 000
<<Kwyjjwpp>>UNC 96 000 24 000 120 000
<cUlinwpbu>>UNC | 200000 | 46 000 49200__1 295200
<<Uuwnnhl Spwunniy >>Ump 84 000 9000 18 600 111 600
<<Plutiljhpwin>> RO 72 000 18 000 18000 | 108 000
<<Shgpwti Ukd>>PRD 4990654 | 349 346 1068 000 | 6408 000

2.2 Uwulwlhgtiph Ynndhg tbplwjwgyws qUuIht wnwwnlubpnud shwt wlbownnienittibip:
Lunnibifly £ npnpmd” Yynnd - 5 nid - 0:

3. Pwgyws jnipwpustigjnip biEYwpntwjpt hwpbpnid hpwybkpny wwhwlgynn thwuwnwpnebph
wnluwynipjwi b hpwybph wuwydwiubppt hwdmulwmwufuwhmpjwb dwupt

(L. Cwpnipyntujwl)

Uwubiwygh Ynndhg Elbyunpnuwht aluny Ubinyujwgywsd hwpnnd wnlw b hpwybipny wwhwgynn pninp
hwuwnwpnpebpp, npwup hwlwywunwuuwund by hpwdbpny uwhdwijws wwhwloubiphty L quwhwuwnn
hwldlwdnnnyh quwhunnn wunwdubiph Ynndhg  ElbGuipnuw)ht hwdwlwpgh  dhongny quwhwwdly by
pwdwpwp:

Lunndadlay £ npngnud” hnnd - 5, nbd - 0:

4. «&L DL-CLURPL-15/17-16/1» Swoélwgnpny quiwi pupwgwlwpgh 1-ht inbin qpunbtigunng
Jwubwhhgubph dwuhpt

(L-<wpnigymljw)
4.1 -5,6 ywihwpwdhlibiph dwuny <<Updwl Uudwlugnyus> U9

-14 swihwpwdhtubph dwuny <<Lbquw| Mynwu>> umpe
-1,2,4,7,20,21, 23, 26 swihwpwdhlubph dwuny <<3wunt UNMCs>
-8.9.30.31 swihwpwdhuubph dwuny <<Pwuljhpwwn>> e
-3,10,11,12,13,15,16,17,18,19,22, 24,25 swipwpwdhuiiph dwuny <<huwswpwd
Ynuubpdwunnphws> YNQ
-27,28,29 sunhwpwdhuubiph dwuny <<<uyyunih>>Une
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